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p (Estimating Quotient - MCQ) sheet

1) Which one will provide the reasonable estimate for 71.65 + 5.82?

a) 72+5 b) 71+6 o 72+6 d 71+5

2)  Which one will provide the reasonable estimate for 35.18 + 4.74?

a) 35=+5 b) 35+4 ¢ 36=5 d 36+4
3)  Which one wi PREVIEW -2.01?
a) 95=+2 94 + 2
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4)  Which one wi -7.837
a) 55+7 55+ 8
5)  Which one wi -3.167
a) 12+4 13+ 4

www.mathworksheets4kids.com

6)  Which one will provide the reasonable estimate for 48.74 + 6.85?

a) 48+6 b) 48-=+7 c) 49+6 d 49+7

7)  Which one will provide the reasonable estimate for 27.12 + 8.98?

a) 27+9 b) 28=+8 c 27-+8 d 28+9
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